

Page 1 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt		Cat A	It Member:	
0001 151006M	1.000	13,760.00000	13,760.00				
PERFORMANCE BOND AND PAYMENT BOND	D DOLL						
0004 153009P	(1)	45,000.00000	45,000.00				
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 999999P	1.000	0.00000	0.00				
NO ITEM	U						
0006 154003P	(1)	279,000.00000	279,000.00				
MOBILIZATION	LS						
0009 157004M	1.000	59,000.00000	59,000.00				
CONSTRUCTION LAYOUT	DOLL						



Page 2 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

	•	NOOTE 22 WB, NA		,				
Line No / Item Des			(1) ASPHAL SYSTEM					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	: 0001	ROADWAY	Ca		Set:	Cat A	It Member:	
0013	159003M	200.000	1.00000	200.00				
BREAKAWA	AY BARRICADE	U						
0014	159006M	500.000	1.00000	500.00				
DRUM		U						
0015	159009M	500.000	22.00000	11,000.00				
TRAFFIC C	ONE	U						
0016	159012M	994.000	16.80000	16,699.20				
CONSTRUC	CTION SIGNS	SF						
0017	159015M	2.000	900.00000	1,800.00				
CONSTRUC	CTION IDENTIFICA 8'	TION U						
0018	159027M	4.000	100.00000	400.00				
FLASHING	ARROW BOARD, 4	I' X 8' U						



Page 3 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0019	159030M	4.000	18,000.00000	72,000.00				
PORTABL SIGN	E VARIABLE MESS	AGE U						
0020	159108M	4.000	5,000.00000	20,000.00				
	CONTROL TRUCK \ D CRASH CUSHION							
0021	159138M	80.000	400.00000	32,000.00				
HMA PAT	СН	Т						
0022	159141M	1,000.000	114.00000	114,000.00				
TRAFFIC	DIRECTOR, FLAGG	ER HOUR						
0023	159144M	10.000	100.00000	1,000.00				
EMERGE	NCY TOWING SERV	/ICE U						



Page 4 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat Alt Member:		
0024	159300M	332,010.000	0.23000	76,362.30				
TRAFFIC	STRIPES, LATEX, 4	" LF						
0025	159312M	7,000.000	0.32000	2,240.00				
TRAFFIC LATEX, 8	MARKINGS LINES, B"	LF						
0026	159314M	5,900.000	0.96000	5,664.00				
TRAFFIC LATEX, 2	MARKINGS LINES, 24"	LF						
0027	161003P	(1)	28,000.00000	28,000.00				
FINAL CI	_EANUP	LS						
0028	201003P	(1)	45,000.00000	45,000.00				
CLEARIN	IG SITE	LS						



Page 5 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY			Cat Alt	Set:	Cat A		
0029	401009P	664.000	55.00000	36,520.00				
HMA MIL	LING, 3" OR LESS	SY						
0030	401017P	5,440.000	25.00000	136,000.00				
MICRO-N	MILLING	SY						
0031	401021M	370.000	220.00000	81,400.00				
HOT MIX REPAIR	(ASPHALT PAVEME!	NT SY						
0032	401030M	23,240.000	2.78000	64,607.20				
TACK CO	DAT	GAL						
0033	401054M	113.000	300.00000	33,900.00				
	(ASPHALT 12.5 M 64 E COURSE	Т						



Page 6 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY		Cat Alt Set:		Cat Alt Member:		
0034	421010M	1,687.000	123.85000	208,934.95				
SLURRY II	SEAL AGGREGATE,	TYPE T						
0035	421011M	47,066.000	11.40000	536,552.40				
SLURRY	SEAL EMULSION	GAL						
0036	424004M	151,719.000	4.98000	755,560.62				
ASPHAL	T RUBBER CHIP SEA	AL SY						
0037	610003M	110,700.000	0.39000	43,173.00				
TRAFFIC	STRIPES, 4"	LF						
0038	610008M	720.000	8.04000	5,788.80				
TRAFFIC	MARKINGS, SYMBO	OLS SF						



Page 7 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

Line N	o / Item ID escription	NOOTE 22 WB, TO	(1) ASPHAL SYSTEM	T PAVING	,			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt Set:		Cat Alt Member:		
0039	610012M	55.000	92.10000	5,065.50				
RPM, MO LENS	ONO-DIRECTIONAL,	WHITE U						
0040	610014M	2,350.000	2.40000	5,640.00				
TRAFFIC	MARKING LINES, 8	B" LF						
0041	610017M	1,965.000	5.76000	11,318.40				
TRAFFIC	MARKING LINES, 2	24" LF						
0042	610018M	40.000	92.10000	3,684.00				
RPM, MO	ONO-DIRECTIONAL, LENS	U						
0043	610024M	95.000	30.00000	2,850.00				
REMOVA	AL OF RPM	U						



Page 8 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

Contract Description: ROUTE 22 WB, RAMP FROM RT 78 TO CR 523 (OLDWICK RD)

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0044	610027M	100.000	21.60000	2,160.00				
REMOVA RPM LEN	AL AND REPLACEM NS	ENT OF U						
0045	610036M	110,700.000	0.72000	79,704.00				
REMOVA	AL OF TRAFFIC STR	RIPES LF						
0046	610039M	5,035.000	5.50000	27,692.50				
REMOVA	AL OF TRAFFIC MAR	RKINGS SF						

Section Totals: \$2,864,176.87



Page 9 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

Contract Description: ROUTE 22 WB, RAMP FROM RT 78 TO CR 523 (OLDWICK RD)

· · · · · · · · · · · · · · · · · · ·	,		(-				
Line No / Item ID Item Description		(1) ASPHALT SYSTEMS					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 CONSTRU		ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0007 155009M	1.000	50,000.00000	50,000.00				
FIELD OFFICE TYPE C SET U	P U						
0008 155027M	9.000	6,500.00000	58,500.00				
FIELD OFFICE TYPE C MAINTENANCE	МО						

Section Totals: \$108,500.00



Page 10 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

Contract Description: ROUTE 22 WB, RAMP FROM RT 78 TO CR 523 (OLDWICK RD)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 NON-PARTIC		PATNG ITEMS	Cat Alt	Set:	Cat A	It Member:	
0002 152004P	1.000	4,064.00000	4,064.00				
OWNER'S AND CONTRACTO PROTECTIVE LIABILITY INSURANCE	R'S DOLL						
0003 152015P	1.000	10,923.10000	10,923.10				
POLLUTION LIABILITY INSUR	ANCE DOLL						

Section Totals: \$14,987.10



Page 11 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 District(s): C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

Contract Description: ROUTE 22 WB, RAMP FROM RT 78 TO CR 523 (OLDWICK RD)

Line No / I			(1) ASPHAL SYSTEM					
Alt Set / A	It Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 EROSION CO			NTROL	Cat Alt	Set:	Cat A	It Member:	
0010 1	58012M	1,000.000	10.00000	10,000.00				
HEAVY DUT	Y SILT FENCE, BLA	CK LF						
0011 1	58030M	10.000	10.00000	100.00				
INLET FILTE	ER TYPE 2, 2' X 4'	U						
0012 1	58072M	1.000	1,100.00000	1,100.00				
OIL ONLY E	MERGENCY SPILL	KIT, U						

Section Totals: \$11,200.00



Page 12 of 12

Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 **District(s):** C1

Call Order: 126 **Project(s):** NHP-0022(336)

Contract Time: 06/29/19 COMPLETION DATE Min: Max:

Contract Description: ROUTE 22 WB, RAMP FROM RT 78 TO CR 523 (OLDWICK RD)

	No / Item ID Description		(1) ASPHAL SYSTEM					
Alt Se	et / Alt Memb	er Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0005 GENERAL LA		NDSCAPE	Cat Alt	Set:	Cat A	It Member:	
0047	805003M	5,000.000	7.50000	37,500.00				
TURF R	EPAIR STRIF	P LF						
0048	805005M	500.000	45.00000	22,500.00				
STABILI	ZED TURF	SY						
0049	805010M	1,000.000	13.50000	13,500.00				
REGRA	DE BERM	SY						
Section Totals:			\$73,500.00					
Contract Totals			\$3,072,363.97					
	Cost Plus Time Totals			\$3,072,363.97				

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 126 Contract ID: 18126 Counties: ATLANTIC

Letting Date: July 17, 2018 10:00 AM District(s): C1

Contract Time: 06/29/19 COMPLETION DATE

Contract Description: ROUTE 22 WB, RAMP FROM RT 78 TO CR 523 (OLDWICK RD) Project(s): NHP-0022(336)

Rank	Vendor ID/Name		Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS, INC.	\$3,072,363.97	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,